o(d dxy) (cm)

=
<

o(d @) (rad)

| S — — — -

o(d dz) (cm)

-

107 L

s3NNEEEE

r_':r

++
&
<

NS
+

L

LI
hdd
4
: A
Loafncooo
4

ii

1 2 3 -2 -1
—=— DQM_V0001_R000000001__Global _CMSSW_ckfPU50__RECO
—e— DQM_V0001_R000000001__Global _CMSSW_mkFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global __CMSSW_LowptQnoclean_ RECO

&

1 d

o p_/p.)

-4 : +
+ ] | | 4
1 oE 3
-+ | ¢4 :
S%f- 11
HE -F-l- +*+1{-1-1-
: =3 . H
h T BE ABE i
H o+ - H
: - :

¥
T

N
N
A

tay
R

rd
AT .
ry
T
'y
A
L
‘A
i
4
v
idy
P

LN UL UL

1 2 3 3 -2 -1
TP ® (PCA to beamline)

2 3
TP ® (PCA to beamline)



	Contents
	Page 1


